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Note :	 This paper is of Eighty (80) marks divided 
into Two (02) sections A and B. Attempt the 
question contained in these sections according 
to the detailed  instructions given therein.

uksV %	 ;g iz'u i=k vLlh (80) vadksa dk gSA tks nks (02) [k.Mksa 

d rFkk [k esa foHkkftr gSA izR;sd [k.M esa fn, x, 

foLr̀r funsZ'kksa ds vuqlkj gh iz'uksa dks gy dhft,A

Section-A/[k.M&^d*

(Long Answer Type Question/nh?kZ mÙkjh; iz'u)

Note :		 Section-‘A’ contains Five (05) Long answer  

type questions of Twenty (20) marks each. 

Learners are required to answer any two  

(02) questions only.	 (2×20=40)
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uksV %		 [k.M&^d* esa ik¡p (05) nh?kZ mÙkjh; iz'u fn, x, 

gSa] izR;sd iz'u ds fy, chl (20) vad fu/kZfjr 

gSaA f'k{kkfFkZ;ksa dks buesa ls dsoy nks (02) iz'uksa ds 

mÙkj nsus gSaA

1.	 What is Matrix ? Explain the types of Matrix.

	 vkO;wg D;k gS\ vkO;wg ds izdkjksa dh O;k[;k dhft,A

2.	 Find the arithmetic Mean, Median and mode of 

the frequency distributions of monthly wages of 

100 labourers of a coal mine from the following 

table :

	 Wages ( )	 No. of Labourers

	 26,000-26,900	 6

	 27,000-27,900	 16

	 28,000-28,900	 27

	 29,000-29,900	 23

	 30,000-30,900	 16

	 31,000-31,900	 10

	 32,000-32,900	 2
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	 ,d dks;ys dh [kku ds 100 Jfedksa dh ekfld etnwjh 

ds fuEu vko`fÙk forj.k ls lekUrj ekè;] eè;dk ,oa 

cgqyd Kkr dhft,%

	 etnwjh ( )	 Jfedksa dh la[;k

	 26,000-26,900	 6

	 27,000-27,900	 16

	 28,000-28,900	 27

	 29,000-29,900	 23

	 30,000-30,900	 16

	 31,000-31,900	 10

	 32,000-32,900	 2

3.	 Calculate the Karl Pearson’s coefficient of 

correlation between Price and Supply of a 

Commodity from the following data :

	 Price  ( ) 	 Supply (Kg.)

	 dher ( )	 iw£r (fd-xzk-)

	 17	 38

	 18	 27

	 19	 38
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	 Price  ( ) 	 Supply (Kg.)

	 dher ( )	 iw£r (fd-xzk-)

	 20	 33

	 21	 32

	 22	 33

	 23	 34

	 24	 29

	 25	 26

	 26	 33

	 fuEufyf[kr leadksa ls oLrq dh dher vkSj iw£r esa dkyZ 

fi;lZu dk lg&lEca/ xq.kkad Kkr dhft,A

4.	 Write a note on National Statistical Organization 

and National Sample Survey Organization.

	 jk"Vªh; lkaf[;dh laxBu ,oa jk"Vªh; izfrn'kZ losZ{k.k 

laxBu ij fVIi.kh fyf[k,A

5.	 What are Primary and Secondary Data ? 

Give merits and demerits of Direct Personal 

Investigation and Indirect Oral Investigation 

methods of collecting Primary Data ?
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	 izkFkfed ,oa f}rh;d vk¡dM+s fdls dgrs gSa\ izkFkfed 

vk¡dM+ks dks ,df=kr djus dh izR;{k O;fDrxr vuqlaèkku 

rFkk izR;{k ekSf[kd vuqla/ku jhfr;ksa ds xq.k&nks"k 

crkb,A

Section-B/[k.M&[k

	 (Short answer type questions/ y?kq mÙkjh; iz'u)

Note : 		 Section-B Contains Eight (08) Short answer 

type questions of Ten (10) marks each. 

Learners are required to answer any four  

(04) questions only.	 (4×10=40)

uksV %		 [k.M&^[k* esa vkB (08) y?kq mÙkjh; iz'u fn, x, 

gSa] izR;sd iz'u ds fy, nl (10) vad fu/kZfjr gSaA 

f'k{kkfFkZ;ksa dks buesa ls dsoy pkj (04) iz'uksa ds 

mÙkj nsus gSaA	

1.	 Differentiate the following functions with  

respect to x :

	 (a)	 (x + 1) (2x3 – 21).

	 (b)	 (x4 – 5x3)  (5x6 + 7x)

	 (c)	
2

2x 3
x
+
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	 fuEu iQyuksa ds x ds lkis{k vodyu dhft, %

	 (a)	 (x + 1) (2x3 – 21).

	 (b)	 (x4 – 5x3)  (5x6 + 7x)

	 (c)	 2

2x 3
x
+

2.	 Explain the Input-Output Analysis.

	 vkxr fuxZr lkj.kh fo'ys"k.k dks Li"V dhft,A

3.	 What are the various methods of collecting 

Statistical data ? Explain.

	 lkaf[;dh; vk¡dM+ksa dks ,d=k djus dh fofHkUu jhfr;k¡ 

dkSu&lh gSa\ Li"V dhft,A

4.	 Explain the concept of Consumer Price Index 

number.

	 miHkksDrk ewY; lwpdkad dh vo/kj.kk dks Li"V 

dhft,A

5.	 Find from the following :

	 (a)	 If the value of Y is 90, then the value  

of X?
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	 (b)	 If the value of X is 70, then the value  

of Y?

		  Arithmetic mean → X = 18; Y = 100

		  Standard deviation → X = 14; Y = 20

	 	 Correlation coefficient = 0.81.

	 fuEufyf[kr ls Kkr dhft, %

	 (a)	 Y dk eku 90 gks rks X dk eku

	 (b)	 X dk eku 70 gks rks Y dk eku

		  lekUrj ekè; → X = 18; Y = 100

		  izeki fopyu → X = 14; Y = 20

		  lglEca/ xq.kkad = 0.81.

6.	 Verify that |AB| = |A| * |B|, 

	 where   2 4 5 3
6 8 9 11A B   = =   

	 lR;kiu dhft, |AB| = |A| * |B|

	 tgk¡ 2 4 5 3
6 8 9 11A B   = =   
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7.	 What do you mean by Probability ? What are the 

five rules of Probability ?

	 izkf;drk ls vki D;k le>rs gSa\ izkf;drk ds ik¡p 

fu;e D;k gSa\

8.	 Write a note on Analysis of Time Series.

	 dky Js.kh fo'ys"k.k ij ,d fVIi.kh fyf[k,A

*******


